
HHd: 3 

narefa HG 2024-25 
fer- fefsJH 

10x1= 10 nËa 

3'I ()- g3 63 yHO:- YHO ÖAS 02 feU 05 y-yS JS 

5x1= 5 njg 

6x3=18 ng 

Jearl Ja y yHo e 3 30-35 HHe f¿u fsdn3 Jda y-H 3 nat 

2x6=12 nia 

4x5-20 ng 

5+5+5 =15 ng 



1. g-feat YHS: 

() H8 

() dd 

(E) H3 ENE----dI3 

HHET 

(ii) �o fsf-n f faJg fHS JIG3 ? 
JUT 

() 3H-t-;HE 

() JI ÈHE 

() 3A-2-fi 

(H) fedt36H 

(i) fofe (i) JHÖH (i) JHJ3 (iv) H836 
() () (ü) (ii) (iv) 
(n4) () () (iv) (ii) 

(e) (iv) (i) (i) (ii) 
(H) () (i) (v) () 

10x 1 = 10 

1 nfa 

1 nja 

1 na 



2. J8en (0) JI fi 
3. 5d (i) fi 
4. dor (iv) é fi 

() 

() 

() 

(H) 

1 

(iüi) 

(ii) 

(i) 

() (i) () (üi) (iv) 

(n) (vi) (üi) () (i) 

(iv) (i) 

() (ii) (i) (i) (iv) 

2 

(H) (i) (i) (üi) (iv) 

(iv) 

(i) 

(v) JH E ? 

() 

3 

(i) 

(iv) 

(ii) 

(ü) 

(®) nÓtHE () BAA� (E) EITJIZ (H) a'SdK 

(i) afJ HJE sta faHà }? 

(i) 

(ii) 

(iv) 

(i) 

1 

1 

5x 1 = 5 nËq 

1 

1 

1 nia 

1 na 

1 nia 

1 nfg 



G3 30-35 HHet fÁU f: 

(i) H3E n g'3e f 

(B) at fsS YHo adI 

SAT ( 

(vi) 3-j H (1838) n yJ TAI 

g'dI (H) 

6x3=18 ng 

3 

3 

3 

3 

3 

3 

3 

3 

3 

12x1=12 njg 



(H) HJGH HJEdH HB3 fa H6? 

(vi) HfJHe t fu E ? 

1 

1 

1 

1 

1 



5. (A) atyHoèes fêl Tda YHS 3s 100-150 HAe fE frI 

(iv) 48HT ;H fHdHEat a'3o Ho? 

6. Hrofdsd HH YHS 
g'T () 

(i) JHe JIÀ Jdd HHS 20-25 HEer fu fef 

(i) JHe Te Jda HHS 20-25 HHei f fen a 

4x5 = 20 n 

5 

5 

5 

5 

5 

5 

5 

5+ 5 + 5 =15 o 



{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

